“Sies — 800-462-2370 800-462-2370 - Uik,

£ 5FVCE  Fax: 800-366-5939 www.SuperStoresService.com www.SuperStoresService.com Fax: 800-366-5939 £ SERVICE
Rol-Lift Series T Frame Rol-Lift Series T Frame
Including Series T 2.9 (Lowered Height) Jacks Including Series T 2.9 (Lowered Height) Jacks
1 1 3-27137 Handle Plug 28 4-00117-02 Lifting Link Shaft, 27” Wide Jack

2 7-60017 Handle Frame (Foot Control Models) 29 3-91003-A-D Load Roller Assembly, Red Ultra-Poly On Aluminum
3 4-00103 Bushing Weldment Hub W/ 4 Flanged Bearings, 6500# Capacity
4  3-11005 Snap Ring RL-31 Load Roller Assembly, Black Ultra-Poly On Steel
5 3-70001 Traverse Bearing Hub W/ Bearings, 3-1/4” Diameter, Flanged

These wheels use 6  4-00058 Traverse Bearings

flanged bearings 7 1-20002 Grease Fitting RL-31-N Load Roller Assembly, Nylon W/ Flanged
8  3-11002 Snap Ring Bearings, 3-1/4" Diameter
9 3-11003 Snap Ring (1mm Thick) RL-31-S Load Roller Assembly, Steel W/ Flanged

3-11036 Snap Ring (2mm Thick) Bearings, 3-1/4” Diameter

2 . 10  KIT-5144-TPTUM  Pin with Snap Rings RL-31-3 Load Roller Assembly, Red Ultra-Poly On Aluminum
F x 11  7-60021 Steer Wheel Axle Hub W/ Bearings, 3" Diameter, Flanged Bearings
‘ @J 8 12 3-25801-06 Roll Pin RL-31-S-3 Load Roller Assembly, Steel W/ Flanged

Jﬂ 13 3-70002 Bearing (Flanged) Bearings, 3" Dia.

Jf 2 ey T-22-WA Bearing (Wet Application) 31 KIT-5090-TPTUM  Steer Wheel Axle Assembly (Includes item 9)
4@ %} a g/@ 14 RL-32-HD Steer Wheel Assembly, Red Ultra-Poly On Aluminum 32 3-10203 Washer
@PT @l Hub W/ Bearings, 8” Diameter, Flanged Bearings 33 BRG-5000-TPTUM Bearing
15 g /- RL-32-N Steer Wheel Assembly, Nylon W/ Flanged 34 WHL-5012-TPTUM Steer Wheel Assembly, Poly On Nylon Hub
T . 24 "/@/ﬁ Bearings, 8” Diameter W/ Bearings, 7-1/2" Diameter, Flanged Bearings
’ d (}) 3 2 RL-32-S Steer Wheel Assembly, Steel W/ Flanged 35 LVB-5004-TPTUM Lifting Link, 27" Wide Jack
17
18 K . Bearings, 8” Diameter 36 BSH-5001-TPTUM Bushing
21}5 Key dlffe rence. ) 15 3-27020 Bushing, 3/4”, Nylon 37 PHR-5010-TPTUM Eye Bolt
¥ N ey befiieen P SOEs T 16 3-25800-07 Roll Pin 38 PHR-5004-TPTUM Push Rod, 48" Forks
e and Series T 2.9 is the push rod and parts - —
16 },? et connecting the push rod to the lifting link. 17 3-27021 Washer 39 PNB-5025-TPTUM Pivot Axle, 7" Wide Forks
2 18 4-00107 Shoulder Pin PNB-5020-TPTUM Pivot Axle, 6” Wide Forks
Not }a 19 7-61006-02 Lifting Link, 27” Wide Jack, 7" Wide 40 3-25801-06 Roll Pin
R(:T Iﬁf.t is converting all steer 1“4 13 Forks (Ear Inset 3/4") 41 PNB-5019-TPTUM Push Rod Axle
wheels (items 14 and 34) from 1 KIT-5037-TPTUM  Lifting Link, 27” Wide Jack, 6” Wide 42 KIT-5136-TPTUM Load Roller Axle
8” to 7-1/2”. We offer both E Forks (Ears Are Flush) 43  WHL-5013-TPTUM-D Load Roller Assembly, Red Ultra-Poly On Aluminum
sizes. : 20 3-04501-05 Set Screw Hub W/ Bearings, 3” Diameter, Standard Bearings
E 21 3-11004 Snap Ring WHL-5013-TPTUM Load Roller Assembly, Black Ultra-Poly On Steel
E 22 4-00308 Eccentric Pin Hub W/ Bearings, 3" Diameter, Standard Bearings
4 23 7-60010-04 Push Rod, 48” Forks WHL-5010-EPTUM Load Roller Assembly, Nylon W/ Bearings,
24  4-61036 Pivot Axle, 7” Wide Forks 3" Diameter, Standard Bearings
4-00102 Pivot Axle, 6” Wide Forks WHL-5013-TPTUM-S Load Roller Assembly, Steel W/ Bearings,
25 4-61095 Push Rod Axle, 7” Wide Forks 3” Diameter, Standard Bearings
4-00101 Push Rod Axle, 6” Wide Forks 44 BKT-5004-TPTUM Load Roller Bracket
These wheels use PR -
. 26 4-00100 Load Roller Axle 45 KIT-5115-TPTUM  Lifting Link Shaft, 27” Wide Jack
standard bearings
27 7-61005 Load Roller Bracket, 7” Wide Forks

4-00089-HD Load Roller Bracket, 6” Wide Forks (Heavy Duty)

"SeriesT2.9
) (Lowered Height)

All manufacturers’ names, part numbers and descriptions are used for reference purposes only. All manufacturers’ names, part numbers and descriptions are used for reference purposes only.
1 9 4 We do not imply that any parts are the products of a particular manufacturer. Copyright © 2024 by GPS, Inc. All rights reserved. We do not imply that any parts are the products of a particular manufacturer. Copyright © 2024 by GPS, Inc. All rights reserved. 19 5


https://superstoresservice.com/
https://superstoresservice.com/
http://genericparts.com/Index.cfm
https://superstoresservice.com/
https://superstoresservice.com/

